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QErHIGE A — 0.08 — PA-1000
OEEHEIF I — 0.09 — PA-1000
4/16 CK) BEHN RELEADORE — 0.09 — PA-1000
QETE 5l — 0.10 — PA-1000
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QB E 5 Al — 0.08 — PA-1000
i DEFEZ L — 0.11 — PA-1000
1 /f(ﬁiz)ﬁﬂgh RELEADR — 0.09 — PA-1000
ETH 5l — 0.09 — PA-1000
DT EIFZ D — 0.10 — PA-1000
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@AY O — 0.14 — PA-1000
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11/10(K) BN |ButhdubEs(aro1)—k) — 0.19 0.16 PA-1000
10/26 (7K) EEN |ButhAubER (3 91)—k) — 0.19 0.17 PA-1000
10/190K) £Y |ButhsbE (@2 9)—h) —_ 0.19 0.18 PA-1000
10/12(7K) BN |ButhdubER(aro1)—k) — 0.16 0.17 PA-1000
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9/22(KR) £Y |#hdLE (@ Y)—1) —_ 0.18 0.16 PA-1000
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